ATOMIC ENERGY CENTRAL SCHOOL NO.4 RAWATBHATA

CLASS 06 - ENGLISH
Online Descriptive Type Test -1(2020-21)
Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
General Instructions:
All questions are compulsory.

READING

1. Read the passages given below and answer the questions that follow:- [5]
The cinema is the cheapest source of entertainment today. Millions of people see movies and
enjoy them. It is a good pastime in all the places - big or small. The cinema industry has made
rapid progress after independence. In the beginning, there were silent, and black and white
movies. Now we are dazzled by the colours in every movie. Big posters are seen on the walls
of cities and towns for advertisements. They also announced the coming movies in the city.
There is always a rush in front of the ticket booking counter. So the tickets are often sold in
the black market or at a premium, On the one hand, the cinema is a source of entertainment.
And on the other hand, it is also a source of knowledge as well as information. Films satisfy all
the sections of people and their different tastes. There are religious movies and historical
movies. They recreate the past, the old culture, and lifestyle. Social films spread awareness
about social evils of dowry, casteism and communal feelings. Some films expose the
corruption in high places among the policemen and the citizens.
Answer the following questions briefly:-

1. Why is cinema so much popular?
2. How can you say that the cinema industry has made rapid progress after independence?
3. Why are tickets often sold in the black market?
4. Mention two advantages of cinema.
Find words from the passage that is opposite to the words given:-

1. costliest

2. slow

2. Read the following poem carefully:- (1 x5 =5) [5]1
In London Town
It was a bird of paradise
Over the roofs he flew
Children clapped their hands and cried:" How nice!
Look- his wings are blue!"
His body was of ruby red
His eyes were burning gold
All the grown-up people said
"What a pity the creature is not dead,
For then it could be sold"
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3.

One was braver than the rest,

He took a loaded gun

Aiming at the emerald chest

He shot the creature through the breast,
Down it fell in the sun. It was not heavy, it was not fat
And folk began to stare

"We cannot eat it, that is flat!

And such outlandish feathers as that
Why, who could ever wear?"

They flung it into the river brown

"A pity the creature died!"

Thus they said in

London town But all the children cried.
1. "Children clapped and cried" shows that

a. they were celebrating

b. they were happy and excited

c. they were very sad and emotional
d. they were shouting at each other

ii. The grown-ups were materialistic as

a. they wanted to eat the bird and sell its feathers

b. they wanted to throw the bird into the river

c. they wanted to sell the bird for a huge sum

d. they wanted to kill the bird to save their town
iii. The adults do not have

a. the innocence of children

b. the wealth of the world

c. peace of mind

d. cruel feelings

iv. The children were different from the grown-ups as the children

a. were kind and liked the bird just as it was

b. they liked the bird for its colourful feathers
c. wept when the bird died

d. they stared at the outlandish bird in disaster

v. The word 'outlandish' here means

a. Out of land

b. Unusual and strange
c. Ordinary

d. Colourful

WRITING

As a Head Boy/Girl draft a notice for your school notice board about an inter-house poetry

recitation competition to be held in school. You are Pooja/Praveen.

[10]
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10.

11.

OR
Read the following conversation between Ragini and Prateek about Parth, Ragini’s brother.
Ragini has to go for her tuitions so she leaves the message for Parth. Write her message.
Prateek: Hello! Can I speak to Parth?
Ragini: May I know who on the line is Please?
Prateek: I am Prateek Parth’s friend.
Ragini: Sorry, Prateek, he has just gone to a stationery shop I am Ragini, his sister. I can take the
message for him.
Prateek: Yes, please. Actually I, along with two friends are going to see the newly released movie
PK at Utsav Cinema tomorrow it being Sunday. An extra ticket can be arranged for Parth if can join
us. He should let me know today by 7:00 pm.
Ragini: Ok I shall convey the message to him.
Prateek: Thank you.
Ragini: You’re welcome!
GRAMMAR

Re-arrange the following words/phrases to make meaningful sentences: (1x5=5) [4]

i. peacock / a / beautiful / is / a / bird
ii. neck / feathers / covered / is / lovely / its /with
iii. green / blue / its /and / body / is
iv. glory /its / tail / long / is / its

v. it/ national / our / is / bird.
Fill in the blanks with "a" or "an". [4]
1. My uncle is ....... famous doctor.
2. I have bought ....... new pair of shoes.
3.Iwentto....... English restaurant for dinner.

4.Thave beento...... church.

Make Noun from the words given below by adding- ness, ity ory. [2]
1. Honest
2. Kind
3. cruel
4. Creative
LITERATURE
How did Taro’s father show his happiness after drinking sake? [2]

What abilities must an astronaut have, according to the journalist? Write your answer in the = [2]
context of An Indian American Women in Space.

How was Miss Beam’s school different from other schools? What was the difference between  [2]
Miss Beam’s school and the other schools?

What made Ray think the visitor was not really a shopper? Write your answer in the context  [2]
of The Old Clock Shop.

How do we know that Akbar was fond of Tansen? Give two reasons. Write your answer in the [2]

context of Tansen.

3/4



4/4



Time Allowed: 1 hour and 30 minutes
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ATOMIC ENERGY CENTRAL SCHOOL NO.4 RAWATBHATA
MCQ Examination August (2020-2021)

CLASS 06 - fg<} (a€a 3fR a1er I3 )
Online Descriptive Type Test -1(2020-21)

Section A
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ATOMIC ENERGY CENTRAL SCHOOL NO.4 RAWATBHATA

CLASS 06 - MATHEMATICS
Online Descriptive Type Test -1(2020-21)

— N

Let ﬁ be the perpendicular to the line segment XY . Let PQ) and XY intersect in the point

A. What is the measure of ZPAY?
Express the mixed fraction as improper fraction: 7%
Rohan made a 3-dimensional figure out of wood. The figure had 12 edges and 6 faces. Which
figure could Rohan have made?
Use number line and add the integers: (-1) + (-7).
Find. Write and indicate how you solved this. Is % equal to % ?
Fill in the blanks:
a) Iftwo lines intersect at right angles, they are called lines.
b)  (-80) +0+(-90) =
Write the measure of smaller angle formed by the hour and the minute hands of a clock at 7
O’ clock. Also, write the measure of the other angle and also state what types of angles these
are.

In the given figure:

a. LAOCis a/an.............. angle.

b. £BOEis a/an ............ angle.
c. LCOFisa/an ............ angle.

Find 10 + (-12) on a number line.
Adjacent figure is a vertical number line, representing integers, Observe it and locate the
following points :

Maximum Marks: 40

[1]

[1]
[2]

[2]
[2]
[2]

[3]

[3]

[3]
[3]
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11.
12.

13.

14.

15.

¥
a. If point D is + 8, then which point is -8?

b. Is point G a negative integer or a positive integer?
c. Write integers for points B and E.

d. Which point marked on this number line has the least value?

31
Solve.4 3

Arrange in descending order
9 13 8 1

161373
Find the measure of the missing angles in a parallelogram, if ZA = 70°.
D c

A B
The temperature on a certain morning is -11°C at 5 a. m. If the temperature drops 3 degree at

6 a.m. and rises 5 degree at 8 a.m. and again drops 3 degree at 9 a.m. What is the temperature
at9a.m.?

Ramesh had 20 pencils, Sheelu had 50 pencils and Jammal had 80 pencils. After 4 months,
Ramesh used up 10 pencils, sheelu used up 25 pencils and Jammal used up 40 pencils. What
fraction did each use up?

[3]
[3]

[4]

[4]

[4]
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ATOMIC ENERGY CENTRAL SCHOOL NO.4 RAWATBHATA

CLASS 06 - SCIENCE
Descriptive Type Test-1 (2020-21)

Section A
Which of the following change cannot be reversed?

a) Freezing of ice cream b) Hardening of cement
¢) Opening a door d) Melting of chocolate
Iron rim is heated before placing on a wooden wheel because
a) Iron contract on heating b) Iron become shiny after heating
¢) Iron expands on heating d) Iron on heating becomes stronger
Which one is not a female part of flower?
a) Anther b) Stigma
c) Style d) Ovary
A herb is one having
a) A number of flower and fruits b) Woody short stems

c) Green soft and short stems d) Annual growth

Leaves bearing parallel venation have

a) Stilt roots b) Prop roots
c) Tap roots d) Fibrous roots
Section B

A potter working on his wheel-shaped a lump of clay into a pot. He then baked the pot in an
oven. Do these two acts lead to the same kind of changes or differences? Give your opinion
and justify your answer.
Explain how an ironsmith make an iron tool from a piece of iron metal.
Draw a diagram of leaf and label the following
a) midrib
b) lamina.
What is ball and socket joint? Where it is found in our body?
Section C
Why stem is important for a plant?(any two points)
Name any two plants with weak stem.
Write functions of roots.

Explain how muscles move a bone.

Name the organs of locomotion of

Maximum Marks: 40

[1]

[1]

[1]

[1]

[1]

[2]

[2]

[2]

[2]

[3]

[3]
[3]

[3]
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14.

15.

16.

a) Man

b) Birds

¢) Cockroach.

(a) Draw labeled diagram of male and female part of flower.

(b) Describe an activity to show that leaves release water vapors through tiny pores present

Section D

on them.

(a) How is the skeleton of a bird well-suited for flying?

(b) How fins help a fish in its movement?

Section E
Fill in the blanks:
a)  Burning of paperis a change.
b)  Plants prepare their food by a process called
) Joints of the bones help in the of the body.
d) Boneis-----—-- but cartilage is --------------- .
e)  The backbone is composed of vertebrae.

[5]

[5]

[5]
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ATOMIC ENERGY CENTRAL SCHOOL NO.4 RAWATBHATA

CLASS 06 - SOCIAL SCIENCE
Online Descriptive Type Test -1(2020-21)

Time Allowed: 1 hour and 30 minutes Maximum Marks: 40
Section A
1. ____ wasprobably grown at Mehrgarh from about 7000 years ago. [1]
a) Sugarcane b) Indigo
¢) Opium d) Cotton
2. Carefully preserved bodies of the king known as [1]
a) Mummies b) Burials
c¢) Dead bodies d) Funerals
3. Which of the following is not among the features of the map [1]
i. Title
ii. Direction
iii. Globe
iv. Index
v. Sketch
a) I[ILILIV b) LILIILIV,V
¢) ILIILV d) ILIILIV
4.  Following picture represents: [1]
a) Mosque b) Church
c) Graves d) Temple
5. Anative of a state who participate in the process of making of a government is . [1]
a) Public b) People
¢) Citizen d) Janta
6. Nelson Mandela was the leader of . [1]
a) American National Congress b) Australian National Congress
¢) African National Congress d) Asian National Congress
7.  Mettur and Krishna sagar dam are situated on which river? [1]
a) Krishna b) Cauvery
¢) Godavari d) Tungabhadra
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11.

12.
13.
14.
15.
16.

Laws in the constitution are for

a) Government b) People
c) None of these d) Both of these
Section B

How were the seals used in Harappa?

What are conventional symbols in a map? How colors play an important role?
Section C

On an outline map of India mark major Harappan sites.
Section D

Where is Lothal city located? What all we could find there?

Define and discuss distance as a component of a map.

How are directions known? Draw a diagram of cardinal directions also.

Why do conflicts take place? Why and how are they resolved?

How is electoral participation necessary for a democracy?

[1]

[2]
[2]

[3]

[5]
[5]
[5]
[5]
[5]
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Solution
Class 06 - English

Online Descriptive Type Test -1(2020-21)

READING
1. a.Cinema is a popular source of entertainment because it is the cheapest means of recreation. It is a good
pass-time.

b. Cinema has made rapid progress after independence as earlier the movies were silent, and black and
white, but now we are dazzled by the colours in the movies. One can see big posters on the wall of cities
and towns and they are an advertisement in a big way.

c. Tickets are often sold in the black market because there is always a huge rush before the booking
windows.

d. Two advantages of cinema are

+ Cinema is a good source of entertainment.
» Itis also a source of knowledge as well as information.

1. Cheapest is the opposite of costliest
ii. Rapid is the opposite of slow.

2. i.(b)
ii. (@)
iii. (a)
iv. ()
v. (b)

WRITING

ABC SCHOOL, NOIDA
NOTICE
28th August 2019

Inter-House Poem Recitation
Our school is organising Inter-House Poem Recitation Competition on 20th September 2019 in the school
auditorium at 10:30 am. Each house captain should give two names from his/her house (classes IX to XII) to
the undersigned by 9th April.
Theme: Bravery Poems
Praveen
3, | (Head Boy).

OR
MESSAGE

29th August 2019

Parth,

Prateek, your friend called up when you were away at the stationery shop. He is going to see the film PK
tomorrow with friends. They can arrange a ticket for you if you wish to join them. You have to tell him
about it today by 7:00 pm.

Ragini

GRAMMAR

4. 1i. A peacock is a beautiful bird.
ii. Its neck is covered with lovely feathers.
iii. Its body is green and blue.
iv. Its glory is its long tail.
v. It is our national bird.
5.1.a
2.a
3.an
4. a
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10.

11.

. 1. HONESTY

2. KINDNESS
3. CRUELTY
4. CREATIVITY
LITERATURE

. Taro's father was really delighted, after drinking the sake for the first time in his life. His shivering stopped

after one sip of the sake. He showed his happiness by doing a little dance in the middle of the floor.

. According to the journalist, it takes enormous ability to be an astronaut. An astronaut must know a lot about

everything, from biology to astrophysics to aeronautical engineering. In this age of super-specialisation, you
must have encyclopedic knowledge to be an astronaut.

. Miss Beam’s school was different from another school because it teaches moral values, thoughtfulness and

kindness apart from the general study while all the other schools focus on teaching subjects. According to the
school, it was important for children to understand the misfortune and suffering of others. The school makes
them share the misfortune of others in order to make them responsible citizens. The teaching methods of the
school were different from other schools and children used to follow all the instructions given to them.

Ray, being deaf and dumb, could judge the people with his eyes. In that late hour, the customers who visited
his shop did not seem to be friendly. Ray felt suspicious about their presence. One of the two men was in his
twenties, the other closer to fifty. The younger man remained at the door. The older man approached the
counter with no sign of friendliness in his eyes. Ray observed the shape of a gun and a restless hand in the
man’s right coat-pocket.

Akbar would call upon Tansen to sing for him at any time during the day or night. At times, he would just
walk into Tansen’s house to hear him practice and gave him many presents too. These reasons tell us that
Akbar was fond of Tansen.
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13.
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Solution
Class 06 - f&& (ada iR a1 79 FHu)
Online Descriptive Type Test -1(2020-21)

Section A
STY STeg IFAT AT G <h1 fARivar sard &, 32 Ao shgd €1
Ay & TR A< g &
i. ToTaTTes fastwor
ii. TS fALivor
iii. gRAUEREs fagtyor
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JSTE0-
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Sgd )
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iv. fhaRT - g, de
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Section B

IgTeT TR HRY TE o feh R ardt e+ TR ot a5t et IoHget 81 A8 a3 ol e 1R off weg 9| Yer arT-anfie, o & oRa
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16.

17.

ii. fafSaT sreueh SR gfraT SaR-aToR & &F &1 R § @it § Hifcs & T diFd IR @RE A & |
iii. Rfear gz o Tt 3Hly &g Wl g Fifch MS A h aHI Rl TG TS Bl AT T @Kl & | I ITh flg Tl g |
iv. 31 9 gl RAfSTT 1 Ue WRAT 81 I8 31+ & &M sl T A 3R WG J @Il &, FA(Y I 3+ G IR g
V. Gl -SaR-aoR T sifera|

Gl -y &R A arefl|
i. AfEeRT &Y T TR TRA Y gfeaT IS off Ao Sl 21
ii. gfeaT QM S TTSTT Y TUCehR g1 H 13 STt o
iii. gfear i ¥ RSt dted §U IR ¥ 3=t AT gl ot foh T SIEr ¥ g9efl )R uga S|
iv. fOhe® T THT-TH1 TR TRA I H AT ASIER, T1 SR TRA-Sd| & s dltch-g ol
V. I &1 HHA- TTISTSI-3GH STIGIR 1 15 hall To| o g1 T h AT |

Section C

Yar F,
TN Agied,
AigeT ufeetar W,
24/7 3% TWHT 7T, TS,
feef-110096,
fawg- uas A & s & dEy A
Hgied,

foa Fde ag & & & 39 fAeera &Y o3t 'a &Y ST E | & fernea & auy oA & ae I g3t @R o1 17 3R R 7 <€ g1 el

SIeR = &aTY &h Ueh &1 3TRM™ 3 Y eftg &1 81 39 HROTH ATST 29 7R 2019 ! [erera Iufdd g & semd g1
OGO ¢ foh T3t 29 ST 2019 W1 SRR Y& e thl T Y|
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3TgehT TR TROT freaT

T &g

BE!'T, I AR 25

29 3T 2019
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Solution
Class 06 - Mathematics

Online Descriptive Type Test -1(2020-21)

1. The measure of ZPAY is 90°.

2. Here, we have,
7l _ (Tx9)+1 64
9 9 9
3. Rohan could have made a rectangular prism. It has 12 edges, 8 vertices and 6 faces.

=

Rectangular Prism
4. On the number line we first move 1 step to the left of 0 reaching -1, then we move 7 steps to the left of -1 and

reach -8.

Thus, (-1) + (-7) = -8.

i i 5 10 15 20 25
5. Equivalent fractions of o A€ 10,5736 157
Equivalent fractions of 1 ared 12 16 20 24 /328 32 36

E 107157207 950 307352 400 a5 ccrrrereeeeeees
" 25 is not equal to 36
% is not equal to%.
6. Fill in the blanks:
a) Perpendicular
b) -170'
7. Measure of the required angle = 30° + 30° + 30° + 30° + 30° = 150°
Measure of the other angle = 360° - 150° = 210°
Angle of measure 150° is an obtuse angle formed by the hour hand and minute hand and that of 210° is a
reflex angle.
8. a. LAOC s an Acute Angle.
" LAOC=40°+10° = 50°
An angle whose measure is greater than 0° but less than 90° is called an acute angle.
b. £BOE is a Right angle.
" LBOE = £LBOC + £COD + £LDOE = 40°+40 °+10° = 90°
c. LCOF is an Obtuse angle.
. LCOF = LCOD + £LDOE + LEOF = 40° + 40°+ 20° =100°
An angle whose measure is greater than 90° but less than 180° is called an obtuse angle.

+10 = 10 steps right

Step 1: Draw a number line with 0 marked as O.
Step 2: Starting from O, to mark ‘+10’, move 10 steps towards right reaching point M.
Step 3: Start from M and move 12 steps towards left reaching point N.
Step 4: Point N corresponds to the integer -2.
Therefore, 10 + (-12) = -2.
10. a.F
b. negative integer
¢.B-+4,E--10
d E
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13.

14.

15.

3_L=323_ 2 [LCM@43)=12]

4x3 3x4
- 9 4 _94_ 5
12 12— 12 T 12
9 1878 1
67373

Lcmof1,6,3,3=6
_ (12,1316,2) 12 13 16 2

6 T 67666
Descending order is —,—, =, =

Therefore, descending order of given fractions is %, % ,2, %

We know the opposite angles of a parallelogram are equal.
So, £C will also measure 70°

Sum of angles = 360°

LA+ /LB+ /LC+ LD =360°

or, 70° + LB + 70° + £D = 360° (We know, LA = £C)

or, LB+ £D +140° = 360°

or, LB+ £D =360° - 140°

or, LB+ LD =220°

But £B = 4D (Because opposites angles of a parallelogram are equal)

LB=/D

=220°+2

=110°

Therefore, B =110° £C=70°and £D =110°
Temperature at 5 a.m. =-11°C

Temperature decreased at 6 a.m. = 3°C = -3
Temperature raised at 8 a.m. = 5°C = +5
Temperature decreased at 9 a.m. = 3°C =-3

Final temperature at 9 a.m. = (-11) + (-3) + (+5) + (-3)
=-11-3+5-3

=-17+5

=-12°C.

For Ramesh

Number of pencils he had = 20
Number of pencils used by him = 10
*."H.C.F. of 10 and 20 is 10

.". Required fraction:;—g = ;8:8 =
For Sheelu

Number of pencils she had = 50
Number of pencils used by her = 25

*."H.C.F. of 25 and 50 is 25
25 _ 25+25 _ 1
50 ~ 50-25 2

I

.". Required fraction =

For Jammal
Number of pencils he had = 80
Number of pencils used by him = 40

*.* H.C.F. of 40 and 80 is 40
. . .40 _ 40+40 1
.". Required fraction= 30 = 30-40 = 3

Yes! each has up an equal fraction of their pencils.
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Solution
Class 06 - Science

Descriptive Type Test-1 (2020-21)
Section A

1. (b) Hardening of cement
Explanation: Hardening of cement is an irreversible change as we cannot reverse back to the original
cement powder form once the cement hardens.

2. (c) Iron expands on heating
Explanation: Iron rim is heated before placing on a wooden wheel because iron expands on heating and
contract on cooling to fit on wooden wheel.

3. (a) Anther
Explanation: The male reproductive parts are much Called stamens, these reproductive organs are made
up of two parts: anthers and filaments. The anther is the part of the organ that produces pollen, and the
filaments hold up the anthers.

4. (c) Green soft and short stems
Explanation: A herb is one having green, soft and short stems.A herb is usually short.Herb has a variety of
uses like adding flavour to food, in medicines.Example Tulasi.

5. (d) Fibrous roots
Explanation: Leaves bearing parallel venation are monocots that have fibrous root system.Parallel
venation means where veins on the leaves are parallel to each other and never meet.
Section B
6. No, these two actions lead to two different types of changes.
i. The shaping of clay into a pot is a physical change, only in the shape of the clay. This change can be
reversed.
ii. Baking of pot in the oven brings about a change in the chemical properties of the clay, and therefore this
change cannot be reversed.
Hence, the first action is reversible, whereas the second action is a non - reversible change.

7.

8. 1. Petiole: The part of the leaf by which it is attached to the stem is called petiole.
2. Lamina: The broad, green part of the leaf is called lamina.

Petiole
Lamina
Midrib

Veins

The lamina contains following parts:
i. Veins: There are various types of lines on the leaf. These lines are called veins,
ii. Midrib: There is a thick vein in the middle of the leaf. This vein is called midrib.

9. e
Section C
10. -
11.
12. -
13. a) Man - Legs
b) Birds - Wings
¢) Cockroach- wings & legs
Section D
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14.
15. The skeleton of a bird is well suited for flying because

i. The skeleton in a bird is strong but the bones are light in weight and hollow inside.
ii. The fore-limbs in a bird are modified into wings. Wings are supported with strong muscles.
iii. The hind-limbs or the legs are with a claw which is modified to hold the support for perching.
iv. The body is light in weight and streamlined- narrow in front and at the back, broad in the middle which
reduces resistance from the air.
Birds fly by flapping their wings. when a bird is in flight it keeps its hind-limbs close to its body. While
landing, it brings out the hind-limbs and keeps the wings open and stationary. Folding of the limbs while in
the air reduces resistance from the air.
Section E
16. Fill in the blanks:
a) Chemical
b) Photosynthesis
¢) Movement
d) bone is hard but cartilage is soft.
e) 33
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Solution
Class 06 - Social Science

Online Descriptive Type Test -1(2020-21)
Section A

1. (d) Cotton
Explanation: Cotton was probably grown at Mehrgarh from about 7000 years ago. Actual pieces of cloth
were found attached to the lid of a silver vase and some copper objects at Mohenjodaro.

2. (@) Mummies
Explanation: When king died, the bodies of kings were preserved and buried in these pyramids. These
carefully preserved bodies are known as ‘mummies’. A large number of objects were also buried with
them. These included food and drink, clothes, ornaments, utensils, musical instruments, weapons and
animals. Sometimes even serving men and women were buried with the rulers.

3. (d)ILIOLIV
Explanation: The following are not among the features of the map:

iii. Globe
iv. Index
v. Sketch

4. (d) Temple
Explanation: The above image represents the conventional symbol of the temple on the map.

5. (c) Citizen
Explanation: Only the citizens of the country have the right to participate in electing their
government.They are the natives of the states and elects their representative.

6. (c) African National Congress
Explanation: The African National Congress, a group of people who led the struggle against apartheid, and
their most well known leader, Nelson Mandela fought the apartheid system for several years. Finally, they
succeeded and in 1994 South Africa became a democratic country in which people of all races were
considered equal.

7. (b) Cauvery
Explanation: The Mettur Dam is one of the largest dams in India and the largest in Tamilnadu with a 93
tmcft capacity. Built in 1934, Also known as Stanley Reservoir, it is constructed across the Cauvery, the
longest and the lifeline river of Tamilnadu.Krishna Raja Sagara, also popularly known as KRS, is located
close to the settlement of Krishnarajasagara in the Indian State of Karnataka. The gravity dam made of
surki mortar is situated below the confluence of river Cauvery.

8. (d) Both of these
Explanation: The Indian Constitution lays down the basic rules or laws that have to be followed by
everyone. These laws are for both the government and the people. Conflicts and differences have to be
resolved according to these laws.
Section B
9. Seals may have been used to stamp bags or packets containing goods that were sent from one place to
another. After a bag was closed or tied, a layer of wet clay was applied on the knot and the seal was pressed
on it. The impression of the seal is known as sealing.
10. Conventional symbols are the symbols used to represent features on a geographical map.
Colours play an important role in the conventional symbols like Blue for water bodies, Green for grasslands,
Brown for hills, Yellow for deserts etc. settlements, huts and buildings are shown in red. It is also used for
different features like roads, bridges, markets, school etc.
Section C
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11. The earliest cities in the subcontinent.

S~ SV

calibangan
Ganweriwala

Mohenjodaro
Sotkakoh “wChanhudaro

\(} ,Dholayir
Surkotadsg * sthal

l

ARABIAN SEA :}\\,L
=
J
R

Section D

12. i. The city of Lothal stood beside a tributary of Sabarmati, in Gujarat.

ii. It was situated near areas where raw materials such as semi precious stones were easily available.

iii. This was an important centre for making objects out of stone, shell, and metal.

iv. There was also a storehouse in the city.

v. Many seals and sealings were found in this storehouse.

vi. This is the only Indus site where an artificial brick dockyard was found and the dockyard must have
served as the main seaport for the people of Indus. It was surrounded by a massive brick wall, probably
for the protection of flood. The world-first tidal port was also excavated from Lothal.

vii. Cultivation of rice evidence was found in Lothal around 1800BC.

viii. Lothal is known as Manchester town of Harappan civilization because of its expansion of cotton trade.
13. Maps are drawings. They reduce the whole world or a part of it to fit on a sheet of paper. In other words, we
can say that maps are drawn to reduced scales. But it needs great care while doing this reduction work in
order to keep the distance between the real places. It can only be possible when a small distance on paper
represents a large distance on the ground. For this purpose, a scale is used. The scale is the ratio between the

actual distance on the ground and the distance shown on the map. For example, the distance between your
school and your home is 10 km. If you show this 10 km. distance by 2 cm on a map, it means, 1 cm on the map
will show 5 km. on the ground. The scale of your drawing will be 1cm = 5 km. Thus, the scale is very
important in any map. If you know the scale, you will be able to calculate the distance between any two
places on a map.

14. Maps contain an arrow marked with the letter N on the upper right. An Arrow with N mark shows the North
direction. It is called the north line. On the Earth, one can find out directions e.g. north, east, west and south.
There are four major directions. North, South, East, West. They are called cardinal points. The other four
intermediate directions are North-East, South-East, South-West and North-West. One can locate any place
more accurately with the help of these intermediate directions. One can also know the direction with the help
of a compass. It is an instrument used to find the main directions.

15. In any country, problems may result in conflicts. There may arise a situation when two people or two groups
feel that they are not being treated fairly or are being discriminated on grounds of culture, region, religion,
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16.

economic background, caste, race etc. The government has to make a sincere effort to convince the people of
its impartial role in resolving conflicts. In a common style, it is the government’s responsibility to bring
together representatives of the two communities and bring about a compromise on the issue. Conflicts exist
in every society and need to be solved amicably to maintain amity in society. It is the duty of the government
to maintain law and order in the country. So, the government make sufficient rules to solve conflicts. Laws
are constituted for this purpose and the government has to ensure the implementation of the same.

Election is the pillar of any Democratic country. Since democracy is defined as the government by the people,
for the people which denotes that people are the source of democracy and that the absolute sovereignty lies
with them.

a. For a successful democracy, participation takes place through voting in elections.

b. People elect their representatives for a fixed term.

c. In India, this term is for 5 years.

d. General elections are held after every five years.

e. Regular elections are a vital method of keeping a check on the government and upholding the virtues of
exercising its power.
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